Chemistry 14B
UA: Karen Leung

Ch 14: Electrochernistry Worksheet

For this worksheet, you should have the sheet with standard reduction potentials of many

common half reactions ready at hand. This can be found if you just google *standard reduction
potential chart’.
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1. Which of the following would be the best oxidizing agent?
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2. The following two half reactions are involved in a galvanic cell. At standard conditions,
what species are produced at each electrode? A A g‘*\
a. Agis produced at the cathode and Ni at the anode. Ni N 24
\

@ Ag is produced at the cathode and Ni** at the anode. /~ pedrued 2

__c. Ag'is produced at the anode and Ni at the cathode. - avude
N d. Ag* is produced at the anode and Ni** at the cathode. cotudt
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3. When the following reaction in basic solution is balanced, what is the sum of the
coefficients?
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4. Copper will spontaneously reduce which of the following?

a. Fe*and Ag* ' $

5 iy and Ag Lao¥ @ tab\
d. 4rt

e. Fe**and APt

Given the standard potential for the reaction of hydrogen and oxygen:
2H, + 0, - 2H,0 Eo=+1.23V
Calculate the standard potential for the following reaction:
H,0 — Hy, +120, ut gwitthed cdes

-1.23v

6. Determine the standard potential E » of a cell with the following reaction:

Fe + Cu?t — Fe¥ + Cy

Fe > Fe? +0.44
0.78v 10 78

7. How many electrons are transferred in the following reaction?

2CI0," + 12H" + 10I° — 51, + Cl, + 6H,0
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reasoning.

S,0 T wi
. “m’, ill be reduced and NO will be oxidized because electrons flow from
the more negative to more positive half cell.

b. Assuming Onditions. write a balanced reaction for what actually happens
spontaneously.

38,05y> + 2NOy, + BOH™ — 650, + 2NO3 o + 4Ha0

n” el
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35,05 T ¢ OH t 2NV —7 bS04’

+ 2NVs < 4 Ha©

c. Calculate the cell emf.

2.0 1 C'O‘C“ﬂ) = (.05

) 1.08V
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d. Draw a schematic representation (cell diagram) for the cell using standard cell
convention.
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